

Tensor products

Given M, N modules

- Can Form $M \oplus N$, a new module
- Want multiplication,

DEF: A tensor product of M, N is a module $M \otimes_R N$ and an R -bilinear map $i: M \times N \rightarrow M \otimes_R N$ s.t. $\forall R$ -module P , and $\hat{\rho}: M \times N \rightarrow P$ $\exists! \hat{\beta}: M \otimes_R N \rightarrow P$ s.t. $P = \hat{\beta} \circ i$

$M \times N$ \xrightarrow{i} $M \otimes_R N$ \xrightarrow{P} P

\xrightarrow{P} $\xrightarrow{Q_1}$ When is i injective?
 $\xrightarrow{Q_2}$ When is i surjective?
 \xrightarrow{U} $U \times W \xrightarrow{i} U$

1) $i(v, 0) = 0 \Rightarrow$ Never
 $= i(0, 0)$

Lemma

$$\text{Span}(\text{Im}(i)) = M \otimes_R N \quad \text{If: } M \otimes N \xrightarrow{\quad} M \otimes N / \text{Span}(\text{Im}(i))$$

Proof: $M \times N$

$i \downarrow \quad \xrightarrow{f(v,w) = 0}$

$M \otimes N \xrightarrow{\quad \hat{f} = 0 \quad} M \otimes N / \text{Span}(\text{Im}(i))$

By uniqueness, $\pi = \hat{f} = 0$ □

Example:

Thm: Existence and uniqueness
Tensor products exist and
are unique up to unique
isomorphism.

Proof: Existence: Let G be a free abelian group generated by $\{m_1, m_2, m_3\}$.
 Let H be generated by $\{m_1, m_2\}$.
 Let $M \otimes N = [v: w]$
 $\in M \otimes N = G/H$

Module axioms, P :

- $(r+s)v = rv + sv$
- $r(rv) = (r+s)v$
- $r(vw) = (rv)w$
- $1v = v$

Define $M \otimes N = G/H$

$\langle (v, w) \rangle = \langle [v, w] \rangle$

$r \cdot [v, w] = [rv, w] = [v, rw]$

$M \otimes N$ is a module.

- $M \otimes N$ is an abelian group ✓
- $(r+s) \cdot (v \otimes w) \stackrel{\text{def}}{=} (r+s)v \otimes w$
 $\stackrel{\text{def}}{=} (rv + sv) \otimes w$
 $\stackrel{\text{def}}{=} r \cdot v \otimes w + s \cdot v \otimes w$
 $\stackrel{\text{def}}{=} r \cdot (v \otimes w) + s \cdot (v \otimes w)$ ✓

$$\begin{aligned}
 & \cdot (r \cdot v \otimes w) = r \cdot v \otimes w \\
 & \quad = (r \cdot s, 1) \otimes w \quad R, N = R \\
 & \quad = r \cdot (s v \otimes w) \quad \square \\
 & \hline
 & \cdot r \cdot (v_1 \otimes w_1 + v_2 \otimes w_2) = r \cdot v_1 \otimes w_1 + r \cdot v_2 \otimes w_2 \\
 & \quad = r \cdot (v_1 \otimes w_1) + r \cdot (v_2 \otimes w_2) \quad \square
 \end{aligned}$$

$$\begin{aligned}
 & \cdot 1 \cdot (v \otimes w) = 1 \cdot v \otimes w = v \otimes w \quad \square \\
 & \cdot i \text{ is bilinear:} \\
 & i(v_1 + v_2, w) = (v_1 + v_2) \otimes w \\
 & \quad = v_1 \otimes w + v_2 \otimes w \quad \text{prop 1} \\
 & i(v, w_1 + w_2) = v \otimes (w_1 + w_2) \\
 & \quad = v \otimes w_1 + v \otimes w_2 \quad \text{prop 2} \\
 & i(rv, w) = rv \otimes w = r \cdot v \otimes w
 \end{aligned}$$

$$\begin{aligned}
 & M \times N \\
 & \downarrow i \quad \quad \quad P \\
 & M \otimes N \xrightarrow{\beta} P \\
 & \cdot \hat{P}(i(v, w)) = P(v, w) \\
 & \cdot \text{"By the lemma", } \hat{P} \text{ uniquely defined on } M \otimes N
 \end{aligned}$$

$$\begin{aligned}
 & \text{Uniqueness:} \\
 & M \times N \\
 & \downarrow i \quad \quad \quad \hat{c}_2(v, w) = \hat{c}_2(i(v, w)) \\
 & \quad \quad \quad i(v, w) = \hat{c}_1(\hat{c}_2(v, w)) \\
 & A_1 \xrightarrow{\hat{c}_1} A_2 \xrightarrow{\hat{c}_2} \hat{c}_2(\hat{c}_1(\hat{c}_2(v, w))) \\
 & \quad \quad \quad = (\hat{c}_2 \circ \hat{c}_1)(\hat{c}_2(v, w)) \\
 & \quad \quad \quad \hat{c}_2 \circ \hat{c}_1 = \hat{c}_2
 \end{aligned}$$

$$\begin{aligned}
 & \text{Examples:} \\
 & \cdot \mathbb{R}^n \otimes \mathbb{R}^m \cong \mathbb{R}^{n \times m} (= \text{Mat}_{\mathbb{R}}(n, m)) \\
 & \cdot R \text{ a ring, } I, J \triangleleft R \\
 & R/I \times R/J \\
 & \downarrow \quad \quad \quad \downarrow P \\
 & R/I \otimes R/J \xrightarrow{\hat{P}} M = R/(I+J)
 \end{aligned}$$

$$\begin{aligned}
 & R/I \times R/J \quad P([r], [s]) \\
 & \downarrow \quad \quad \quad \downarrow P \\
 & R/I \otimes R/J \xrightarrow{\hat{P}} R/(I+J) \quad \text{P well defined?} \\
 & \quad \quad \quad \hat{P} \text{ surjective.}
 \end{aligned}$$

$$\begin{aligned}
 & \text{Ker } \hat{P} ? \\
 & \hat{P}(c_1 \otimes c_2) = P([c_1], [c_2]) \\
 & \quad \quad \quad \text{suppose} \\
 & \quad \quad \quad = [c_1] = [0] \\
 & \Leftrightarrow c_1 \in I + J \\
 & \Leftrightarrow c_1 = x + y, x \in I, y \in J
 \end{aligned}$$

$$A \otimes (B \oplus C) \cong (A \otimes B) \oplus (A \otimes C)$$

First, $B \rightarrow B \oplus C$, $C \rightarrow B \oplus C$

we get $A \otimes B \rightarrow A \otimes (B \oplus C)$, $A \otimes C \rightarrow A \otimes (B \oplus C)$

By universal property of \oplus , we get

$$\begin{array}{ccccc}
 A \times B & \xrightarrow{\quad} & A \otimes B \oplus A \otimes C & \xleftarrow{\quad} & A \times C \\
 \downarrow & & \downarrow & & \downarrow \\
 A \otimes B & \rightarrow & A \otimes (B \oplus C) & \leftarrow & A \otimes C \\
 & & & \uparrow & \\
 & & (A \otimes B) \oplus (A \otimes C) & & \\
 & & \downarrow & & \uparrow \\
 & & (A \otimes b, A \otimes C) & & (A \otimes b, A \otimes C) \\
 & & \downarrow & & \uparrow \\
 & & (A \otimes (b, c)) & & (A \otimes (b, c))
 \end{array}$$

Summarize: use the two universal properties in two different orders.

Left: $B \oplus C \rightarrow (A \otimes B) \oplus (A \otimes C)$

$$\begin{array}{ccc}
 a \mapsto (a, 0) & & b \mapsto (0, b) \\
 & \text{---} A \oplus B \text{ ---} & \\
 & \text{---} \not\exists \text{! hom.} \text{ ---} & \\
 A & \xrightarrow{\text{hom}} & P & \xleftarrow{\text{hom}} & B
 \end{array}$$